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Question Number : 1 Question Id : 87827045980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The spelling of which word out of the following is correct

. Sanctimonous

Sanctimonious
. santimonious
. sanctimodus

B T o

Options :

878270180741. 1
878270180742. 2
878270180743. 3

878270180744. 4

Question Number : 1 Question Id : 87827045980 Question Type : MCl( gcollegedunias

Question Mandatory : No Calculator : None Response Time : N.AThi -



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

"He &1 WHT' Hglar &1 Jol 314 §

1. YieH BT
2. Tidial 95U 9
4 G T BRA

Options :

878270180741. 1
878270180742. 2
878270180743. 3

878270180744. 4

Question Number : 2 Question Id : 87827045981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

He used to wake up at 4 o' clock ?

1. wasn't he?
2. should he?
3. didn't he?
4 will he?

Options :

878270180745. 1
878270180746. 2
878270180747. 3

878270180748. 4

Question Number : 2 Question Id : 87827045981 Question Type : MCl( gcollegedunias

Question Mandatory : No Calculator : None Response Time: N.AThi -



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT BT GHHTT et FILfiEd § @ &9 91987 22

1. &M
2. JAdie
3. 3diH
4 HeR

Options :

878270180745. 1
878270180746. 2
878270180747.3

878270180748. 4

Question Number : 3 Question Id : 87827045982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

|dentify the adverb in the given sentence:
| seldom go to the movies.

: I

2. movies
3.go

4 seldom

Options :

878270180749. 1
878270180750. 2
878270180751. 3
878270180752. 4

gcollegedunias

Question Number : 3 Question Id : 87827045982 Question Type : MCy u;u.lun SMUIIINY @ INU 1>



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1. fafd
2 UDIUiA
3. gedud
4 3qu]

Options :

878270180749. 1
878270180750. 2
878270180751. 3

878270180752. 4

Question Number : 4 Question Id : 87827045983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From the given options, choose the correct answer to convert the given sentence in Direct Speech to Indirect Speech
He requested them, "Please take me home. | don't feel very well "

1. He insisted upon going home as he was not feeling well

2. He requested them to take him home. He said that he didn't feel very well

3. He entrusted his friends to take him home otherwise he wouldn't feel very well
4 He asked them to take him home. He wasn't feeling very well

Options :

878270180753. 1
878270180754. 2
878270180755. 3

878270180756. 4 :
collegedunia:
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Question Number : 4 Question Id : 87827045983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrofeiRad H 9 38g Uet 31 9T

1. I=dq
2. Ufd=sm
3. el
4. I=BY

Options :

878270180753. 1
878270180754. 2
878270180755. 3

878270180756. 4

Question Number : 5 Question Id : 87827045984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From the given options, choose the correct option to convert the following sentence in Active Voice to Passive Voice:
Nobody can hear a sound.

1. No sound can be heard.

2. Can somebody hear a sound?
3. Asound cannot be heard at all
4 No sound is heard

Options :
878270180757. 1
878270180758. 2
878270180759. 3
gcollegedunias

878270180760. 4 S



Question Number : 5 Question Id : 87827045984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T3 39| TEdl R g4 T B
Suded arag # Ear fea g @ 4vf 7 o 8

- GeqIgd Tl
 Higddid® U3
 GHgdrEI® 3l
HIgdr® Tl

A

Options:

878270180757. 1
878270180758. 2
878270180759. 3

878270180760. 4

Question Number : 6 Question Id : 87827045985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blank with the correct preposition:

My grandfather used to say not to hanker wealth and position but | did not heed his advice.

1. for

2. 1o

3. against
4 after

Options :

878270180761 1 ,
gcollegedumas
878270180762. 2 -



878270180763. 3

878270180764. 4

Question Number : 6 Question Id : 87827045985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

l_"\-\.

Tgifdhd e o Y@ifdd et & WH W fGU U el ¥ Uel 3o 9fFT

fafy fors P < ARY B

£
o

o I

9

£

Options:

878270180761. 1
878270180762. 2
878270180763. 3

878270180764. 4

Question Number : 7 Question Id : 87827045986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blank with the correct preposition:

| prefer coffee tea.

- with

1o

1
2
3. than
4

. against .
collegedunia:
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Options :

878270180765. 1
878270180766. 2
878270180767. 3
878270180768. 4

Question Number : 7 Question Id : 87827045986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl Teg H B 91 U 22

1. 9fd
2 U™
3.1
4 U

Options :

878270180765. 1
878270180766. 2
878270180767. 3

878270180768. 4

Question Number : 8 Question Id : 87827045987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What is the meaning of the Idiom: Bolt from the blue.

1. To beat ruthlessly
2. A sudden rush of energy

3. An unexpected shock/incident
4. To find out the truth gcollegedunias

~



Options :

878270180769. 1
878270180770. 2
878270180771.3

878270180772. 4

Question Number : 8 Question Id : 87827045987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=y

e WM 8 IUgEd st &1 9g BT
1. Ui
2 diq
3.8 qac"lﬂ
4 ds ¥
Options :
878270180769. 1
878270180770. 2
878270180771. 3

878270180772. 4

Question Number : 9 Question Id : 87827045988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match the idiom/phrase in List-l with their meanings in List-ll:

List-l List-ll
IdiomiPhrase: Meaning
(A). Big bad wolf (). Appeal to the lower taste

(B). To throw up one's cards|(11).To wish for something impossible

(C). Cry for the moon (111). Fear of the unknown

(D). Play to the gallery (IV). To cease to struggle/ to accept defeat

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

3. (A) - (I, (B) - (1), (C) - (IV), (D) - (II)

4. (A) - (Il), (B) - (1), (C) - (I1), (D) - (IV)
Options :

878270180773. 1
878270180774. 2
878270180775. 3

878270180776. 4

Question Number : 9 Question Id : 87827045988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fgfafed o 4 YEifed Weal &1 Yg &9 9T
e Wiy cafdadl 5 90 UReU & da® & 3 & ¥9 § WieR UgH fGar sl

1. WPl UGH @1 B
2. 3HIE feargl
3. AoR fhar g1

4 WOR D15l
gcollegedunias
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Options :

878270180773. 1
878270180774. 2
878270180775. 3

878270180776. 4

Question Number : 10 Question Id : 87827045989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following options is synonymous with the word: Inimical.

. Pious
_Innovative
. Shrivel

- Harmful

B T

Options :

878270180777. 1
878270180778. 2
878270180779. 3

878270180780. 4

Question Number : 10 Question Id : 87827045989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR T ST HETeR @1 o Foffad § 4 aH 9 30
1. HgH ¥ 7} 3T

2. §9R § TRE UHhaH S5
3. 3fcfees Tl BT

4. ST gHT gcollegedunias
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Options :

878270180777. 1
878270180778. 2
878270180779. 3

878270180780. 4

Question Number : 11 Question Id : 87827045990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the given options, choose the antonym of the word: "Antipathy’.

1. Admiration
2. Unexplained
3. Blame

4 Rouse

Options :

878270180781. 1
878270180782. 2
878270180783. 3
878270180784. 4

Question Number : 11 Question Id : 87827045990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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gl -1 B gl -1l Y GARTT DIt
- [
Hleq

(A). fargaa |(1). s
(B). SIfeiaH| (11). anfeeg
(C). T |(Il). STt
(D). ARITUS (V). T

d feu e faedl & ¥ UEl SR g :

1.(A) - (1), (B) - (IV), (C) - (1), (D) - (1)
2. (A) - (1), (B) - (li), (C) - (IV), (D) - (1)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
4. (A) - (), (B) - (1), (C) - (1), (D) - (IV)

Options:

878270180781. 1
878270180782. 2
878270180783. 3

878270180784. 4

Question Number : 12 Question Id : 87827045991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the expanded form of the one-word substitution: '‘Bohemian’’

1. People, groups, nations or states united for the same purpose.

2. A person (prisoner) who frequently gets in trouble for indulging in fights
3. A person (artist) leading a way of life which is very unconventional

4 Revolt against the Government to bring complete change.

Options :
878270180785. 1
878270180786. 2

878270180787. 3 @collegeduniaé

878270180788. 4 b



Question Number : 12 Question Id : 87827045991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i -1 & gl -1l Y gHied DIt -

= - =i -
T AHR

(A). TTEe |(1). <=
(B). T&fem |(n). s
(C). TrEmE|(1). fagmrs
(D). HE  |(IV) T&d

At feu 7 fawedl H 9 W81 ST gL

1.(A) - (IV), (B) - (Il), {n::‘--.nw (D) - (I)
2 (A) - (ll), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (IV), {B}-{III U::a- ). (D) - (1)
4 (A) - (I}, (B) - (IV). (C) - (1), (D) - (1)

Options :

878270180785. 1
878270180786. 2
878270180787. 3

878270180788. 4

Question Number : 13 Question Id : 87827045992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match the one-word substitutions in List-l with their meanings in List-ll:

List-| List-ll

One word substitution Meaning in expanded form

(A). Along, loud, serious and usually angry speech ((1). Harangue

(B). A person authorized to act on behalf of another|(Il). Partisan

(C). Done by one-side or party only (111). Proxy

(D). A person devoted to a party group or cause (V). Unilateral

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}

2. (A)- (1), (B) - (lin), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (I1), (D) - (IV)

4. (A) - (I}, (B) - (IV), (C) - (llr), (D) - (1)
Options :

878270180789. 1
878270180790. 2
878270180791. 3
878270180792. 4

Question Number : 13 Question Id : 87827045992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias_
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Tt - B gt -l gl Sife

It -l it -l

(A). T=+3flerd - Taler|(1). 3fE |
(B). Uh+UdH - Ubdp (11, 07 &fe
(C). T+ -7 |, S 8f
(D). g+ BU-faqm  |(v) TUTER

-t feu 7Y fadedl H 9 ¥gl SR gHT

1. (A) - (1), (B) - (1), (C) - (1l1}, (D) - (IV)
2. (A) - (IV), (B) - (1), (C) - (I), (D) - (111}
3. (A) - (11}, (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (I, (B) - (11), (C) - (1), (D) - (IV)

Options:

878270180789. 1
878270180790. 2
878270180791. 3

878270180792. 4

Question Number : 14 Question Id : 87827045993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the given options, choose the suitable word to fill in the blank:
The king issued a forbidding hunting.

1. decree
2. degree
3. deceit
4 decry

Options :

878270180793 1
collegedunia:s

878270180794. 2

~



878270180795. 3
878270180796. 4

Question Number : 14 Question Id : 87827045993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl -1 DI Gl -1l Y G Bl -

I | 41 -l
GIE2IE] U Hleg
(A). Bl 8 & TR B (1). T
(B). 9l U0 & SIAR Bl (). TIH
(C). T& F3 & U&d 531 (1), TUTHH
(D). TF ¢ B T =31 el (V). g
T fgu T fasedl o 9 W81 I gL -
1. (A) - (1), (B) - (1), (C) - (I } D) - (1)
2. (A) - (I, (B) - (IV), (C) - (I, - (1)
3. (A) - (IV), (B) - (I}, (C) - (Il D‘J— (1Ty
4 (A)- (1), (B) - (IV), (C) - (1l1y, (D) - (11}

Options :

878270180793. 1
878270180794. 2
878270180795. 3

878270180796. 4

Question Number : 15 Question Id : 87827045994 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



From the given options, choose the right answer to correct the error in the following sentence:
Rohit, who is my friend and benefactor, have come.

1. Rohit, who is my friend and benefactor, haven't come.

2. Rohit, who is my friend and benefactor, have been coming.
3. Rohit, who is my friend and benefactor, has come.

4 Rohit, who is my friend and benefactor, are come.

Options :

878270180797. 1
878270180798. 2
878270180799. 3

878270180800. 4

Question Number : 15 Question Id : 87827045994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fgifdd 9 @i 60 Y faded H U Tl IR gaR Ul Bl
 9Iel Bl g [®

1 HgEPE Y

2. 99 U8 &1 B Udhd §l

3. # el g1 eeh

4 H 9 &I 91y dH 3F de-1 Jigdl §

Options:

878270180797. 1
878270180798. 2
878270180799. 3

878270180800. 4

gcollegedunias

Question Number : 16 Question Id : 87827045995 Question Type : M(



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the parts of the following sentence in the correct order:
(A). we shall at last
(B). do a thing however difficult it may be
(C). if we are really determined to
(D). find a way to do it

Choose the correct answer from the options given below:

Options :

878270180801. 1
878270180802. 2
878270180803. 3

878270180804. 4

Question Number : 16 Question Id : 87827045995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



ot -1 &1 Tl -1l G gafed Sifo ;

T - = -1l
(A). TSRS ((1). &)
(B).dgdd (). &%
(C). -5 |(111). Tge
(D). AHHT |(IV). SEeie
-d feu e f9@edt & O 9el S 9T :

1. (A) - (1), (B) - (1), (C) - (1), (D) - (V)
2.(A)- (1), (B)- (), (C)- (IV), (D) - (1)
3. (A) - (1), (B) - (1), (C) - (I, (D) - (IV)
4. (A)- (1), (B)- (1), (C) - (1), (D) - (IV)

Options:

878270180801. 1
878270180802. 2
878270180803. 3
878270180804. 4

Question Number : 17 Question Id : 87827045996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Re-arrange the parts of the following paragraph in the right order:
{A). When we reached halfway, the bus stopped in front of a hotel.
(B). Then came the announcement that it was time for lunch.

(C). | went into the hotel and sat before a table near the driver.
(D). | was returning from Chandigarh by bus.

Choose the correct answer from the options given below:

1. (A), (B), (D), (C).

2. (D), (A), (B), (C).

3. (C), (D), (B), (A).

4 (D), (C), (A), (B).
Options :

878270180805. 1
878270180806. 2
878270180807. 3

878270180808. 4

Question Number : 17 Question Id : 87827045996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Fofaiad J U fogdivg 90" &1 316 o o-
A UdE

B. Sl

C. UG

D. HRUT

E. fiRgaR

I feu U fapedf § © el SR T -

1.%ad (A) 3R (B)

2 @dd (A), (C) 3R (D)
3. ®4qd (D)

4. &ad (E)

Options :

878270180805. 1
878270180806. 2
878270180807. 3
878270180808. 4

Question Number : 18 Question Id : 87827045997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which part of the following sentence needs improvement to make the sentence grammatically correct?

Avirus Is a piece of software code created to perform malicious activities and hampered resources of a computer system
like CPU, memory, personal files, or sensitive information.

1. like CPU, memory, personal files, or sensitive information.
2. and hampered resources of a computer system

3. created to perform malicious activities

4 Avirus is a piece of software code

Qcollegedunias

Options: -



8782701808009. 1
878270180810. 2
878270180811. 3

878270180812. 4

Question Number : 18 Question Id : 87827045997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgfafad o O Yg ard 3 ugaH Difdu

1. g3l 30 W Bl s g

2 Td AGaR &1 SH-41 feT Tl
3. BHRI fd9R di 98l g1

4. TRT U0 €@ H o

Options :

878270180809. 1
878270180810. 2
878270180811. 3

878270180812. 4

Question Number : 19 Question Id : 87827045998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which part of the following sentence needs improvement?
His computer is inferior than mine.

1. His computer
2_Is inferior

3. than mine
4. Sentence doesn't need improvement gcollegedunias

~



Options :

878270180813. 1
878270180814. 2
878270180815. 3

878270180816. 4

Question Number : 19 Question Id : 87827045998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot -1 &1 Tl -1l G gafed Sifo ;

- T -
EIE] GIECE

(A). 95 ®od | foraa & (1), SUEH
(B). 3% 9 g i (Il). X
(C). T8 317 a1 9 919 ST & (). T8IEH
(D). 8 Y1 & forg Bl el & (V). T
- feu e fawedl | § Hel 3ok giFe

1..(A) - (1), (B) - (IV), (C) - (II), (D) - (I)
2. (A) - (), (B) - (1), (C) - (1), (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (111)
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

Options:
878270180813. 1
878270180814. 2

878270180815. 3

878270180816. 4

Question Number : 20 Question Id : 87827045999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1
Minimum Instruction Time : 0 gcollegedunias

~



Correct Marks : 4 Wrong Marks : 1

Complete the following paragraph by choosing the correct form of the verb given in the bracket:

The pressure (put) all the panelists in & frenzy. They (shout) over each other trying to make their
voices (hear). Itis nothing short of a pandemonium.

1.has put are shouting, heard
2.put are shouting, to be heard

3. has put shout. had heard

4 put were shouting, will be heard

Options :

878270180817. 1
878270180818. 2
878270180819. 3

878270180820. 4

Question Number : 20 Question Id : 87827045999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafaa & ®F 9 a9 RS ©?
A. g dad dicHl o-d 8|

B. 3USI 98 &1 U1 [Uasy|

C. 4@ &1 Ufd WG H g

D 319 R ST €8t 51

E. 00 853 (R &1 ¢4 I8 5l?
id feu e fadedl € € U8l SR g

1.%ad (A) 3R (B)
2 &4dd (B) 3R (C)
3. ®ad (C) 3R (D)

4 ®ad (D) 3R (E) )
collegedunia:s

~



Options :

878270180817. 1
878270180818. 2
878270180819. 3
878270180820. 4

Sub-Section Number : 2
Sub-Section Id : 8782701837
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 87827046000 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (21 to 25)

Question Label : Comprehension

gcollegedunias

~



Read the following passage and answer the following question

Qver the [ast few years, the top technology companies of the Silicon Valley have been dominating headlines as the goverment
has conducted more hearings and investigations into their business practices, particularly those that have allowed them to
dominate consumers and the market. Despite these investigations, two business practices have yet to be questioned: the
formation of product ecosystems and planned obsolescence. The former refers to a group “of several devices that talk” to each
other while the latter is “the phenomenon of deliberately shortening the durability of products.” Additionally, there has not been
an investigation into the relationship of these concepts with consumer rights.

Congress's amendment to the Federal Trade Commission Act in 1938 made ‘unfair methods of competition in commerce, and
unfair or deceptive acts or practices in commerce unlawful.” These concepts were expanded upon by President John F. Kennedy
in & 1962 address fo Congress in which he laid out four consumer rights: “the right to safety, the right to be informed  the right fo
choose and the right to be heard.” Pertinent in this context, are the consumer rights to be informed and choose. The former
requires the consumer be given “all facts they nesd to make informed choices™ and be “protected against fraudulent deceitful, or
misleading information, advertising, labeling, or other practices. The [atter requires the consumer have the ability to pick
between “a variety of products and services at competifive prices.”

For instance, the product XYZ offers a host of products, from the xPhone fo the xMac to the X Watch, that each share
information with the others. Consumers benefit from access to information on one product that was first input on a different
product. This can also be fo the detriment of consumers because information can only be transferred hetween products in the
same ecosystem. This tactic makes it difficult for consumers to switch technology brands and for competitors to enter the
market. Product ecosystems thus call into question a consumer’s right to choose by restricting access to competing goods.

Sub questions

Question Number : 21 Question Id : 87827046001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the given passage carefully and answer the guestions that follow:

What is planned obsolescence?

1. It is the process of formation of an ecosystem wherein several devices talk to each other
2. Itis the phenomenon of deliberately shortening the durability of products.

3. Itis the method of using false claims as advertisements to mislead consumers

4 Itis a system of downloading data in a planned manner

Options: gcollegedunias

878270180821. 1 N



878270180822. 2
878270180823. 3

878270180824. 4

Question Number : 22 Question Id : 87827046002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Read the given passage carefully and answer the questions that follow:
Which of the following is not a right laid out by President John F. Kennedy in his 1962 address to Congress?

1. The right to choose
2. The right to be heard
3. The right to safety

4. The right to life

Options :

878270180825. 1
878270180826. 2
878270180827. 3

878270180828. 4

Question Number : 23 Question Id : 87827046003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Read the given passage carefully and answer the guestions that follow:
What according to the passage comprises the consumer's right to be informed?

1. Ability to pick between a variety of products and services at competitive prices.
2. Right to choose by restricting access to competing goods
3. To be informed about policy changes by third-party collaborators

4 To be given all facts they need to make informed choices gcollegedunias

~



Options :

878270180829. 1
878270180830. 2
878270180831. 3

878270180832. 4

Question Number : 24 Question Id : 87827046004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given passage carefully and answer the questions that follow:
Which of the following products are not offered by XYZ?

(A). xPhone

(B). X Watch

(C). iBoard

(D). iSmart Home

Choose the correct answer from the options given below

1. (A) and (B) only
2. (C)and (D) only.
3. (A), (C)and (D) only
4 (A), (B) and (C) only.

Options :

878270180833. 1
878270180834. 2
878270180835. 3

878270180836. 4

Question Number : 25 Question Id : 87827046005 Question Type : M( .
collegedunia:

Is Question Mandatory : No Calculator : None Response Time : N.A1



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given passage carefully and answer the questions that follow:
Which of the following statements from the passage are false?
(A). Consumers benefit from access fo information on one product that was first input on a different product

(B). There has been an investigation inio the relationship of the concepts of product ecosystems and planned obsolescence
with consumer rights.

(C). Congress's amendment to the Federal Trade Commission Act in 1938 made unfair methods of competition in
commerce unlawful

(D). The right to be heard equals the right to be protected against fraudulent, deceitful, or misleading information,
advertising, labeling, or other practices

Choose the correct answer from the options given below:

Options :

878270180837. 1
878270180838. 2
878270180839. 3

878270180840. 4

Question Id : 87827046000 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (21 to 25)

Question Label : Comprehension

gcollegedunias

~
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Sub questions

Question Number : 21 Question Id : 87827046001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el

TS & HIER, YRd 5 gurdare @ faemE 66 Tel 9 ga 82
(A). dfgarat

(B). T¥Fm

(C). YD

(D). SdifE®

Fafeied 5 9 9l [dde 9+

1. Had A AR B
2 ®HAAB AR C
3. ®aaC AR D
4 A B C3RD

Options :

878270180821. 1
878270180822. 2
878270180823. 3
878270180824. 4

Question Number : 22 Question Id : 87827046002 Question Type : M( gcollegedunias

Is Question Mandatory : No Calculator : None Response Time: N.AT -



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & HTER, U= & Gela &l e YRd J [50d e & I g3 82

21:24 Q_h:::’"
3. SHdig
4. Hifdddrarg

Options :

878270180825. 1
878270180826. 2
878270180827.3

878270180828. 4

Question Number : 23 Question Id : 87827046003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 5 Ugdd P Weg H fA2s 41 52

1.7F
2. 39

3 g
4 PG

Options :

878270180829. 1
878270180830. 2
878270180831. 3

878270180832. 4

Question Number : 24 Question Id : 87827046004 Question Type : M(
collegedunia:

Is Question Mandatory : No Calculator : None Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & 3R, e § M &3 a1 S UIed YRd @ Tidl ®I [ddd ME9q 4 9Hd 82

1 fthedl & qrmm 9

2 FRACH AT Y

3 UHde & dai-dl & gy 4
4. YD foprg & Mg §

Options :

878270180833. 1
878270180834. 2
878270180835. 3

878270180836. 4

Question Number : 25 Question Id : 87827046005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR g gYr Weg @ 3 &-

1. 3y
2 Yrarg

3 DD
4 YIS

Options :

878270180837. 1
878270180838. 2
878270180839. 3

878270180840. 4

Sub-Section Number : 3

Sub-Section Id : 8782701838 .
collegedunia:

Question Shuffling Allowed : Yes S



Is Section Default? : null

Question Number : 26 Question Id : 87827046006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X Y and Z are partners in a business. Their shares of investment in the buisness are in the proportion of 1/3 :1/4:1/5

X withdraws half of his capital after 15 months and after another 15 months, a profit of Rs. 4340 is divided among them
The share of Y in the profit is:

Options :

878270180841. 1
878270180842. 2
878270180843. 3

878270180844. 4

Question Number : 26 Question Id : 87827046006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X, Y &N 7 U ogae # WRTTGR 31 3t G e H T 73 SR @1 U 1/3:1/4:1/5 @ S H 1 X, 15 5eH B a1
U TS 5 ol 1 1T el T i iR G Tl 15 el o 616 © 4340 1 014 g A e e o &1 Y @1
pa Ay H g

gcollegedunias

~

Options :



878270180841. 1
878270180842. 2
878270180843. 3

878270180844. 4

Question Number : 27 Question Id : 87827046007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A certain sum of money becomes three times of itself in 20 years at simple interest. In how many years does it become
double of itself at the same rate of simple interest?

1.10yrs.
2.6yrs.
3.4yrs.
4.3yrs.

Options :

878270180845. 1
878270180846. 2
878270180847. 3

878270180848. 4

Question Number : 27 Question Id : 87827046007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRV ST R U it 1R 20 6T o) 3 1l T 21 Tl 21 T ! o e o a6 S 6 R g T 9

1.10 ¥
2.6 4T

3 4% :
4 3% collegedunia:
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Options :

878270180845. 1
878270180846. 2
878270180847. 3

878270180848. 4

Question Number : 28 Question Id : 87827046008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A0/

Amilkman buys two cows for Rs.750. He sells first cow at a profit of 22% and the second cow at a loss of 8%. What is the
S.P. of second cow if in the whole fransaction there is no profit no loss?

1.Rs.332
2.Rs.506
3.Rs 454
4 Rs.312

Options :

878270180849. 1
878270180850. 2
878270180851. 3
878270180852. 4

Question Number : 28 Question Id : 87827046008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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1.Rs.332
2.Rs.506
3.Rs 454
4 Rs.312

Options :

878270180849. 1
878270180850. 2
878270180851. 3
878270180852. 4

Question Number : 29 Question Id : 87827046009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rahul saves 10% of his fotal salary. Next year, he increase his expenses by 20%, but his percentage of savings remain the
same. What Is the percenatage increase in his salary next year?

1.10%
2.16.66%
3. 0%
4 40%

Options:

878270180853. 1
878270180854. 2
878270180855. 3

878270180856. 4

Question Number : 29 Question Id : 87827046009 Question Type : M( gcollegedunias

Is Question Mandatory : No Calculator : None Response Time : N.A 1 NINK 11Me : LA



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG M0 01 4 a1 10 T 1 | 3t W1, 9 0 el H 20 T @1 91 el 6, clo] 99! 99d 1 Wiokid
T G 8| T 915 990 da A foher 0% 916 63 2

1.10%
2.16.66%
3. 0%
4 40%

Options :

878270180853. 1
878270180854. 2
878270180855. 3

878270180856. 4

Question Number : 30 Question Id : 87827046010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tank is fitted with two taps X and Y. In how much time will the tank be full if both the taps are opened together? Which of the
followings statements is/are required to answer this question

(A) Xis 50% more efficient than Y.

(B) X alone takes 16 hours to fill the tank

(C)Y alone takes 24 hours to fill the tank

Choose the correct answer from the options given below:

1.(A)and (C) only
2.(A)and (B) only
3.(B)and (C) only.
4 Any two of the three.

, gcollegedunias
Options:

~



878270180857. 1
878270180858. 2
878270180859. 3

878270180860. 4

Question Number : 30 Question Id : 87827046010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A3 T X R Y 31 4 7 O W I 1 e oot S A R S e e A d g
SR LT 34 1St ot afvrd

(A) X, Y 1 o1 50 Wi e e ¢
(B) 3T X BI 1 R H 16 9¢ T ¢
(C) 30T Y BI 1 4R H 24 9¢ T ¢
1(A) Jq (C) :MEH

2. (A) 3R (B) Baa

3.(B) R (C) pam
s EA A e E

Options :

878270180857. 1
878270180858. 2
878270180859. 3

878270180860. 4

Question Number : 31 Question Id : 87827046011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 gcollegedunias

~



Athief, pursued by a policeman, was 100m ahead at the start. If the ratio of the speed of the policeman to that of the thief
was 5:4, then how far could the thief go before he was caught by the policeman?

1.200m
2.400m
3.600m
4700 m

Options :

878270180861. 1
878270180862. 2
878270180863. 3

878270180864. 4

Question Number : 31 Question Id : 87827046011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 R o O el i X1 o, S 100 Fe 3 o) 3R e it 1 6T IR 1 9 O 54 4,

1.2005R
2 400 HR
3 600 HiX
4 700 HR

Options:

878270180861. 1
878270180862. 2
878270180863. 3

878270180864. 4

Question Number : 32 Question Id : 87827046012 Question Type : M( gcollegedunias

Is Question Mandatory : No Calculator : None Response Time : N.A 1 NINK 11Me : LA



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 50 metre long train passes over a bridge at the speed of 30 km per hour. If it takes 36 seconds to cross the bridge, what is
the length of the bridge?

1. 250 metres
2. 300 metres
3. 350 metres
4 400 metres

Options :

878270180865. 1
878270180866. 2
878270180867.3

878270180868. 4

Question Number : 32 Question Id : 87827046012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
7@ 50 HeX Tt & 30 el of € a1 1T € 0 [ 0 R § el 51 9 [ @ IR e 6 36 Y a6, dl @
e ool 22

1.250 9
2 3005
3. 350 B
4 400 B

Options :

878270180865. 1
878270180866. 2
878270180867. 3

878270180868. 4

gcollegedunias
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Question Number : 33 Question Id : 87827046013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which statement is/are enough to give the answer of the question.

In how many days can 16 men and & women together complete the piece of work?
(A) 8 men complete the piece of work in 10 days.

(B) 16 women complete the piece of work in 10 days.

(C) 5 women take 32 days to complete the piece of work.

Choose the correct answer from the options given below

1. Only (A) and (C).
2. Only (B) and (C).
3. Only (A) and (B).
4. Only (A) and either (B) or (C).

Options:

878270180869. 1
878270180870. 2
878270180871. 3

878270180872. 4

Question Number : 33 Question Id : 87827046013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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1.%ad (A) 3R (C)
2 @dd (B) 3R (C)
3. &ad (A) 3R (B)
4. &dd (A) AR (B) T (C)

Options :

878270180869. 1
878270180870. 2
878270180871. 3
878270180872. 4

Question Number : 34 Question Id : 87827046014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Atakes twice as much time as B or thrice as much time as C to finish a piece of work. Working together, they can finish the
work in 2 days. B alone can do the work in ;

1.12 days
2.10 days
3.6 days
45 days

Options:

878270180873. 1 Qcollegedunias

878270180874. 2 b



878270180875. 3

878270180876. 4

Question Number : 34 Question Id : 87827046014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al 2 QU 0 ) G T G A o R 1 G A 2R
B [ B T 51 B 3l 319 B v o1 5 o el 22

112 f
2 0fe
AR
4 5T

Options:

878270180873. 1
878270180874. 2
878270180875. 3

878270180876. 4

Question Number : 35 Question Id : 87827046015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the share of Ravi in the profit earned by Vikram, Ravi and Anuj together if Ravi investment was 25% less than
Vikram and 50% more than Anuj and the profit of Vikram is Rs. 4000 more than that of Anuj?

1.Rs 4000
2.Rs 5000
3.Rs 6000
4. Rs 7000

gcollegedunias

~

Options :



878270180877. 1
878270180878. 2
878270180879. 3

878270180880. 4

Question Number : 35 Question Id : 87827046015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Togpm, 4 3R 3ot G0 0 Ay o e 2 e T G, R 00 a1 o v 1 T 25 T @ iR
7 1 o1 50 ol A 41 3R 3R a5 1 Y 31 o o1 W Rs 4000 9 2

1.Rs 4000
2.Rs 5000
3.Rs 6000
4. Rs 7000

Options :

878270180877. 1
878270180878. 2
878270180879. 3

878270180880. 4

Question Number : 36 Question Id : 87827046016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



A sum of money becomes eight times in 3 yrs, if the rate is compounded annually. In how many years the same amount at
the same compound interest rate will become sixteen fimes?

1.8yrs
2.6yrs
3.5yrs
4.4yrs

Options :

878270180881. 1
878270180882. 2
878270180883. 3
878270180884. 4

Question Number : 36 Question Id : 87827046016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T R 3 19 715 T 31 €, 2 R s 0 e i€ | g o o R 9 R e i
it T 81wy

1.8 ¥d
2.6 4
3.9l
4 441

Options:

878270180881. 1
878270180882. 2
878270180883. 3

878270180884. 4

Question Number : 37 Question Id : 87827046017 Question Type : M( gcollegedunias

Is Question Mandatory : No Calculator : None Response Time : N.A 1 NINK 11Me : LA



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shopkeeper labelled the price of the watch 20% above the the cost price Atter allowing a discount of 15% on
the labelled price, the shopkeeper charges Rs.40 for the watch. What was the cost price of the watch?

Choose the most appropriate answer from the options given below:

1.Rs 350
2.Rs 400
3.Rs 430
4 Rs 500

Options :

878270180885. 1
878270180886. 2
878270180887.3

878270180888. 4

Question Number : 37 Question Id : 87827046017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

COMER - Ue 1 10 1 AT 1 4 20 HicRTe ey ofove ol [3p 915 i Ted W 15% 1 ¢ &4 o 61, GOHGR
T3 @I Rs 408 BId T a1 5 9] 1 TFTd e 1 417

Rerm e TR
1.Rs 350
2. Rs 400
3. Rs 450
4 Rs 500

, gcollegedunias
Options:

~



878270180885. 1
878270180886. 2
878270180887. 3

878270180888. 4

Question Number : 38 Question Id : 87827046018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an election, a total of 5,00,000 voters participated. A candidate got 2,55,000 votes which was 60% of the total valid votes.
What was the percentage of invalid votas?

1.15%
2.12%
3.10%
4.300117%

Options :

878270180889. 1
878270180890. 2
878270180891. 3

878270180892. 4

Question Number : 38 Question Id : 87827046018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



T T #, et 5,00,000 FGTa! § T e T a1 2,55,000 e et it el e ll 1 60% 971 70 il a1
T T e

1.15%
2.12%
3.10%
4.30017%

Options :

878270180889. 1
878270180890. 2
878270180891. 3
878270180892. 4

Question Number : 39 Question Id : 87827046019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the cost price of 10 articles is equal to the selling price of 7 articles, then the gain or loss percent is

1.51% gain
2. 422 % gain
3. 35% loss
4425 % loss

Options:

878270180893. 1
878270180894. 2
878270180895. 3
878270180896. 4

Question Number : 39 Question Id : 87827046019 Question Type : M( .
collegedunia:

Is Question Mandatory : No Calculator : None Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe 10 a&g 3 &1 AFTd Ged 7 a%gedl & faed Oed & Sue 6, dl o g1 8l ufasid 8

1. 51% 4
2. 42%% Y
3. 35% BIH
4 42!—5"-'3'0 %ﬂ?[

Options :

878270180893. 1
878270180894. 2
878270180895. 3
878270180896. 4

Question Number : 40 Question Id : 87827046020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An outlet pipe can empty a cistern in 3 hours. In what time will it empty 2/3 rd of the cistern?

1. 2 hours
2. 3 hours
3. 4 hours
4 5 hours

Options :

878270180897. 1
878270180898. 2
878270180899. 3

878270180900. 4

Question Number : 40 Question Id : 87827046020 Question Type : M( gcollegedunias

Is Question Mandatory : No Calculator : None Response Time: N.AT._..=_ ....._ .. _..



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e oM TR0 3 8¢ H U <o) &1 U & 9ol 5| fva- T99 § 05 <ol &1 2/3 e el a2 oo

124
2 3%
344
459

Options :

878270180897. 1
878270180898. 2
878270180899. 3

878270180900. 4

Question Number : 41 Question Id : 87827046021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X takes 2 hours more than Y to walk d km, but if X doubles his speed, then he can make it in 1 hours less than Y. How much
time does Y require for walking d km?

1. 3 hours
2.4 hours

d
35 hours

4 33—“hours

Options :

878270180901. 1
878270180902. 2
878270180903. 3
878270180904. 4

gcollegedunias

Question Number : 41 Question Id : 87827046021 Question Type : MLy wpuuii snuninny .« 1vu



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X@ld o T A Y B e d 2 6 e o ¢, ol 3G X ST TR Al A Gl g, A R Y R PAA T
SR | Y Bl d [t Io ¥ foreen g i 2

139
2 4%

d
I
5 hours

2d
4 ? hours

Options :

878270180901. 1
878270180902. 2
878270180903. 3

878270180904. 4

Question Number : 42 Question Id : 87827046022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Two frains are coming from opposite directions with speeds of 75 km/nr and 100 km/hr on two parallel tracks. At some
moment the distance between them is 100km. After T hours, distance between them is again 100km. T is equal o :

1.1.5Mrs
21=frs
3 1hr
4.2hrs

Options :

878270180905. 1

878270180906. 2
878270180907. 3 @ collegedunias

~



878270180908. 4

Question Number : 42 Question Id : 87827046022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o o T femaft @ 75 epeeien o 100 foveten 1 7 9 €1 WHIGR Uoial R o 1§ | T W0 390 a1 G4 100
fordl § | T¢ 916, 370 a1 @1 g4 e § 100 o §1 TRI A AT

1151
2 154
7|
319
424¢

Options :

878270180905. 1
878270180906. 2
878270180907. 3

878270180908. 4

Question Number : 43 Question Id : 87827046023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Efficiency of X is 20% less than Y to do a certain task. If X alone can complete a piece of work in ?% hours, then Y alone

candoitin:

1 ﬂhours
2

2. 5hours
g ?% hours

4.6 hours
gcollegedunias

~

Options :



8782701809009. 1
878270180910. 2
878270180911. 3

878270180912. 4

Question Number : 43 Question Id : 87827046023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o o 1 X e, Y ) 20 9o %wﬁxmmﬁr;% RATRE R, YR
forel GO A R G0 67
141
2I-\.
258
31; @
465

Options :

878270180909. 1
878270180910. 2
878270180911. 3

878270180912. 4

Question Number : 44 Question Id : 87827046024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Aman, a woman and a boy can finish a job in 3, 4 and 12 days respectively. How many boys must assist 1 man and 1
woman to finish the job in 1/4 of a day ?

114
241
319
41

Options :

878270180913. 1
878270180914. 2
878270180915. 3

878270180916. 4

Question Number : 44 Question Id : 87827046024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U, U el o U g U o 6 R 3, 4 3R 12 el U W ¢ | 3 o 1 06 o & 0
T Q1 % o ol U 60 3R U el o WY fohe e ) asaan Gl 2

114
2.4
319
411

Options:

878270180913. 1
878270180914. 2
878270180915. 3

878270180916. 4

Question Number : 45 Question Id : 87827046025 Question Type : M( g

collegedunia:
Is Question Mandatory : No Calculator : None Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X% of a is the same as y% of b, then z% of b is

1. xy/lz % of a
2.yz/x % of a
3. xzly % of a
4 xyz %o

Options :

878270180917. 1
878270180918. 2
878270180919. 3

878270180920. 4

Question Number : 45 Question Id : 87827046025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
UG a®Ix% bHy% & GAH G, dib B 2% &

1. adlixyiz %
2. adlyz/ix %
3. adlxzly %
4 xyz %

Options :

878270180917. 1
878270180918. 2
878270180919. 3

878270180920. 4

Question Number : 46 Question Id : 87827046026 Question Type : M( gcollegedunias

Is Question Mandatory : No Calculator : None Response Time: N.AT -



Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In & row of students , Ankitis 7th from left while sumit s 15th from right. Both of them interchanged their positions such that
Ankit becomes 21st from left . What will be the total number of students in the class?

1.36
2.31
3.36
4.39

Options :

878270180921. 1
878270180922. 2
878270180923. 3

878270180924. 4

Question Number : 46 Question Id : 87827046026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@s—i‘rﬁw‘@ﬁ&ﬁﬁaﬂzémﬂﬁwm%W@ﬁﬂ_ﬁﬁéﬁ&@ﬂﬁ@ﬁ%ﬁ%ﬁ@gﬂﬁm
TG T TaT o a1G Sfceal a1 & 21 R T 3 711 e & 1 ) ol g foed g2

1.36
2.31
3.38
439

Options :
878270180921. 1
878270180922. 2

878270180923. 3

878270180924. 4
collegedunia:

~



Question Number : 47 Question Id : 87827046027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sixboys PQR ST and Z it in two rows of three boys each . If Tis not at any end of rows, Sis second tothe leftof Z R is
the neighbour of T and is sitting diagonally opposite to S and Q is the neighbour of Z, then who will sit opposite to Q7

1.1
2.5
3.F
4.Q

Options:

878270180925. 1
878270180926. 2
878270180927. 3

878270180928. 4

Question Number : 47 Question Id : 87827046027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FWAEP QR STMZ#H#HW&“HWHWE|HETW$WMW _g.f%*:sz%ﬁa’r%em
TR R T TSI 5 3R S o vl g 9@ 961 8 3R Q, Z T TSI &, a1 Q & T M 96T

Options :
878270180925. 1

878270180926. 2
878270180927. 3 gcollegedumas

~



878270180928. 4

Question Number : 48 Question Id : 87827046028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Argument's is/are strong as per given statement.

Statement—Should there be a complete ban on strike by government employees in India ?
Arguments—

| Yes, this is the only way to teach discipline to the employees.

II. No, this deprives the citizens of their democratic rights.

1_if only argument | is strong
2_if only argument Il is strong
3. if either | or Il is strong
4 if both | & II are strong

Options :

878270180929. 1
878270180930. 2
878270180931. 3
878270180932. 4

Question Number : 48 Question Id : 87827046028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



fSU 10 Sy & RO Y ©F 91 T SU1el e B

HYF- TN HURAT H WBRI SHAMRGT DT godrd W quf ufaey g1 91fgu?
a& -

. BT, SHAG! B SR FiEH &1 781 UTGHH ai®l o

| T8l 98 AFR®! @i 31h diddiA® AUER! § ditd dl ol

1. ¢ aa d® | T &
2 Of¢ $ad dd || T2ad &
3 afeardl i ar I Oead B
4 g 1 3R 1| gFf IRaa &

Options :

878270180929. 1
878270180930. 2
878270180931. 3
878270180932. 4

Question Number : 49 Question Id : 87827046029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read both the statements and decide which of the following answer choice correctly depicts the relationship between these
two statements

Statement | - Senior citizens of the city have complained about the late night disturbance caused due to loudspeakers used
during festivals

Statement || : Though, the Govemment has issued a directive banning late night celebrations involving use of loudspeakers,
it is not being strictly followed in some of the areas

5
5

It both the statements (1) and () are effects of some common cause. .
collegedunia:s

~

atement (1) is the cause and statement () is its effect

f
tatement (1) Is the cause and statement (1) Is its effect.



Options :

878270180933. 1
878270180934. 2
878270180935. 3
878270180936. 4

Question Number : 49 Question Id : 87827046029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S o 1 O R 0 X o T A 9 0 9 o et 7 ) vl o v e 91 08 @ 9 @i g

B || Tg3 & G TFIRG! 3 AIERI & GRM S (0T TH a1 Troewias! & BRY X I g a1 R & s A
ST 1 g

U || BT, AR G0 & 9| & o SR & SUaT R Wi M &1 1w ) vl 8, i g8 & o
] T 8 UG Te) 1061 o 1

1. 76 B () FRU S IR (1) T IVE 8

2 0% B (1) BRI § IR (1) 90 THa 8
3,705 3 @ (1) 3R (1) T R0 3

4. TG T @ (1) 3R () o THH U & M 8|

Options :

878270180933. 1
878270180934. 2
878270180935. 3
878270180936. 4

Question Number : 50 Question Id : 87827046030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain language FLOWERS is coded as SLEWORF, how will PENSION be coded in that code?

1. NEISNOP
2. NEISNQP
3. NEISMOP
4 PEISNOP

Options :

878270180937. 1
878270180938. 2
878270180939. 3
878270180940. 4

Question Number : 50 Question Id : 87827046030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt e R I8 # FLOWERS @1 SLEWORF & ¥U ¥ Sifa {1 911 2, 3 39 M1 & PENSION 1 &8 @ifsd fon
el

1. NEISNOP
2. NEISNQP
3. NEISMOP
4 PEISNOP

Options:

878270180937. 1
878270180938. 2
878270180939. 3

878270180940. 4

Question Number : 51 Question Id : 87827046031 Question Type : M(
collegedunia:

Is Question Mandatory : No Calculator : None Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain code language SISTER s coded as 636301, UNCLE as 64570 and OK as 29, how will SON be coded in that
code language?

1.624
2.625
3,564
4629

Options :

878270180941. 1
878270180942. 2
878270180943. 3

878270180944. 4

Question Number : 51 Question Id : 87827046031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt ol PR @15 4T H SISTER 1636301 UNCLE @1 84570 3% OK 1 20 & &0 H ilfgd U1 M1 5. ot SH B1 HIWT
7 SON @I %4 difsd fara s

1.624
2.625
3.564
4629

Options :
878270180941. 1
878270180942. 2

878270180943. 3
878270180944. 4 gcollegedunias

~



Question Number : 52 Question Id : 87827046032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number will come next in the series

3,10, 33, 104, 319 , ?

1. 960
2. 966
3. 969
4.1000

Options:

878270180945. 1
878270180946. 2
878270180947. 3

878270180948. 4

Question Number : 52 Question Id : 87827046032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o Il T yae o HRT e

3,10, 33, 104, 319, ?

1. 960
2. 966
3. 969
4.1000

Options :

878270180945, 1 ,
collegedunia:
878270180946. 2

~



878270180947. 3
878270180948. 4

Question Number : 53 Question Id : 87827046033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which number will come next in the series
4 10 19 40 79 160 ?

1.310
2.320
& 2
4 319

Options:

878270180949. 1
878270180950. 2
878270180951. 3

878270180952. 4

Question Number : 53 Question Id : 87827046033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o Il T g o AT HU:
4,10, 19, 40, 79, 160, ?

1.310
2320
3.315
4 319

gcollegedunias

Options : b



878270180949. 1
878270180950. 2
878270180951. 3

878270180952. 4

Question Number : 54 Question Id : 87827046034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Anil said to Anand, " that boy playing with the football is the younger of the two brothers of the daughter of my father's wife".

How is the boy playing football related to Anil?

1 father

2. brother

3. s0n-in -law
4 uncle

Options :

878270180953. 1
878270180954. 2
878270180955. 3

878270180956. 4

Question Number : 54 Question Id : 87827046034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



T 7 G U e, "pedic WeH T g o e MU 31 el @1 9] & ol Mg 9 Bl 4TS 51" el Wa arcl e
o1 AT T B

1. fom

)R

3. Tl

4 T

Options :

878270180953. 1
878270180954. 2
878270180955. 3

878270180956. 4

Question Number : 55 Question Id : 87827046035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'‘A+B' means 'Ais the husband of B,
'‘A/B' means 'Ais the sister of B' and
"A*B' means "Ais the son of B",

which of the following shows ' P is the daughter of Q'?

PIS*Q
S*Q+RIP
Q+R*P
R*QP

B T o

Options:

878270180957. 1
878270180958. 2
878270180959. 3

878270180960. 4 gcollegedunias

~



Question Number : 55 Question Id : 87827046035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEA+B BT A BAUE, ABFIHURA BH TGS ARA*B AR A BHIT S, T HEeeq H I BH
WP QP E "

1.PS*Q
2.5"Q+RP
3.Q+R*P
4R*QP

Options:

878270180957. 1
878270180958. 2
878270180959. 3

878270180960. 4

Question Number : 56 Question Id : 87827046036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Akhil starts walking towards South. After walking 20m  he turns towards North. After walking 25m he turns towards East
and walks 10 m. He then turns towards South and walks 5m How far is he from his original position and in which direction?

(Om  East
(Om West
Om. South

1
1
1
10m North

1
o
3
4
Options :

878270180961. 1
878270180962. 2

878270180963 3 gcollegeduniag

878270180964. 4 b



Question Number : 56 Question Id : 87827046036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T G801 1 R ] S DYl 1 20 HeR e o A, 0 SR 1 3R 5 &1 25 ek e 9 91, 05 [ 31 iR 5
& 9% 10 i 7o 31 i a5 cfam a1 o 75 & &R 5 HieR ool €| O o0 e R § foeeft g2 2 ok o feam e 22

108K, 1@

10 e, TiEg
10 HieR, ST
104 IR

1
2
3
4
Options:

878270180961. 1
878270180962. 2
878270180963. 3

878270180964. 4

Question Number : 57 Question Id : 87827046037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
which option iIs correct mirror image of figure(x)?

K| [ XK %

X} (a) (b} i) (d)

ol e b
o 0 o om

gcollegedunias

Options: ~



878270180965. 1
878270180966. 2
878270180967. 3

878270180968. 4

Question Number : 57 Question Id : 87827046037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 1 faded Mpla (X) BT It g0 ufafars 52

K| [ X% X %

) (a) (b} (e (d)

e e o
a0 oo

Options :

878270180965. 1
878270180966. 2
878270180967. 3

878270180968. 4

Question Number : 58 Question Id : 87827046038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Asolid cube of each side 8cm has been painted red blue and black on pairs of opposite faces. Itis then cut into cubical
blocks of each side 2 cm. How many cubes have no faces painted?

14
2.4
3.8
4.12

Options :

878270180969. 1
878270180970. 2
878270180971. 3

878270180972. 4

Question Number : 58 Question Id : 87827046038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T B9 S o ¥ 6 9 T et o 1! v, fc R a0 81 7 1 59 o 49 2 S i
Y] ST scio] H 1c] oIkl 3 fooe Tl H ol 6t e 71 g 22

1.
2.4
3.8
4.12

Options:

878270180969. 1
878270180970. 2
878270180971. 3

878270180972. 4

Sub-Section Number : 4

Sub-Section Id : 8782701839 gcollegedunias

~

Question Shuffling Allowed : No



Is Section Default? : null

Question Id : 87827046039 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (59 to 60)

Question Label : Comprehension

Symbol based

Which Conclusion Would Follow On The Basis Of Statement:

Directions—
Symbols @, %, # 5, * are used with different meanings as explained below—

P @Q means P is not greater than Q'

P % Q' means P is neither greater than nor equal to Q'
P#Q ' means P is neither smaller than nor equal to Q'

P 5 Q'means P is neither smaller than nor greater than Q
P*Q means P is not smaller than Q'

Sub questions

Question Number : 59 Question Id : 87827046040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Statements— H*D D#R, R@ L

Conclusions—
L L@H
. H#R

1. If only conclusion | is true

2. If only conclusion Il is true

3. If either conclusion | or Il is true
4_If neither | nor Il is true

Options :

878270180973. 1
878270180974. 2
878270180975. 3

878270180976. 4

Question Number : 60 Question Id : 87827046041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statements— N%G R R@ K, K#F

Conclusions—
I R@F
| R#F

1. If only conclusion | is true

2. If only conclusion Il is true

3. If either conclusion | or Il is true
4_If neither | nor Il is true

Options :
878270180977. 1

878270180978. 2 gcollegeduniag

878270180979. 3 b



878270180980. 4

Question Id : 87827046039 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (59 to 60)

Question Label : Comprehension

U TR T 31 11 Ao e

el

TWE @ % # 8, o ol b e e e R Rmme
P@QA TSP QITIT |

P%Q BIFe g PAT QYT IE QP WK
P#QFITEL P QATALIT QT WY

PSQ AR s PATQEBRIE QTR

PrQE T P QU T 3
Sub questions

Question Number : 59 Question Id : 87827046040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



PY4-H*D, D#ER, R@L
e
LL@H
I H#R

1. 1f% Saq Femd | I B
2. gt &ad sy || T B
3 oG ardl ey 1 a1 1 9T g
4 OGN SRAE I FA B

Options :

878270180973. 1
878270180974. 2
878270180975. 3

878270180976. 4

Question Number : 60 Question Id : 87827046041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PUYI-NDB R R@K K#F

> 4
@ i

F
I R&#F

1.7l ad FpY | 9 g
2 7f¢ $aa ey 1| 94 B
3 oG ardl ey 1 a1 1 9T g
4 G RTS8 T B

Options :

878270180977. 1 gcollegedunias

~



878270180978. 2
878270180979. 3

878270180980. 4

Sub-Section Number : 5
Sub-Section Id : 8782701840
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 87827046042 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension

Study the given pie chart and answer the five questions that follow.
The qiven pie chart shows the percentage distribution of number of different types of chocolates distributed by Ankit

Total number of chocolates distributed = 280

Percentage distribution of the types of chocolates
distributed

15.0%

® DanyMik @ 5Sr @ Skhes @ Nan @ e

Sub questions

Question Number : 61 Question Id : 87827046043 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 .
gcollegedunlas
Correct Marks : 4 Wrong Marks : 1 =



The average number of chocolates of Dairy Milk, 5-star and Mars taken together is equal to number of chocolates
distributed of which of the given type?

1. Dairy milk
2. Snickers
3. Mars

4 Twix

Options :

878270180981. 1
878270180982. 2
878270180983. 3

878270180984. 4

Question Number : 62 Question Id : 87827046044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the ratio of number of chocolates of 5-Star and Mars taken together to the number of chocolates of Dairy milk and Twix
taken together?

1.107
2.78
361
4.11:12

Options :

878270180985. 1
878270180986. 2
878270180987. 3
878270180988. 4

Question Number : 63 Question Id : 87827046045 Question Type : M( i
collegedunia:
Is Question Mandatory : No Calculator : None Response Time: N. AT -



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of chocolates of Mars distributed by Ankit is what percentage more o less than the number of chocolates of 5-
Star distributed by Ankit?

1.50% less

2.50% more
3. 40% more
4 60% more

Options :

878270180989. 1
878270180990. 2
878270180991. 3

878270180992. 4

Question Number : 64 Question Id : 87827046046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of price of one Dairy milk and one Snickers is 54 respectively, and total amount spent by Ankit on Dairy milk and
Snickers is Rs. 2072. Find the price of 3 Dairy milk and 5 Snickers?

Options :
878270180993. 1
878270180994. 2

878270180995. 3

878270180996. 4 :
collegedunia:

~



Question Number : 65 Question Id : 87827046047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of chocolates of Snickers distributed by Ankit is what percentage more or less than the number of chocolates of
5-Star distributed by Ankit?

1.25% less
2. 25% more
3.15% less
4. 35% less

Options:

878270180997. 1
878270180998. 2
878270180999. 3

878270181000. 4

Question Id : 87827046042 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension

gcollegedunias

~
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Sub questions

Question Number : 61 Question Id : 87827046043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S i@ 5-%R IR A @) Fidde) o1 0o 9 e 98, 47 90 TeR 1 [9aRa el o S8 & T 87

Options :
878270180981. 1

878270180982. 2 gcollegedunias

~

878270180983. 3



878270180984. 4

Question Number : 62 Question Id : 87827046044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5. 3R T o Fldce] @l U 9 T @1 o e 3R 3 @l didhere] o) W 1y T U 30 §1d B

1.107
2.78
381
41112

Options :

878270180985. 1
878270180986. 2
878270180987. 3

878270180988. 4

Question Number : 63 Question Id : 87827046045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ifthd g1 faaia ol @1 et o g aifed gR1 T 5-%R @1 Sieaet @ 9 ¥ o vfaws e T an o

1.50% B4
2 50% 3@
3.40% 3@
4 60% 3@

Options :
878270180989. 1
878270180990. 2 gcollegeduniag

~



878270180991. 3

878270180992. 4

Question Number : 64 Question Id : 87827046046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T SR e R T R i S S 524 €, R e g 52 v R o R e a1 7 g ORI
20723) 3 S5 e R 5 Rl @i 1 @i

Options :

878270180993. 1
878270180994. 2
878270180995. 3
878270180996. 4

Question Number : 65 Question Id : 87827046047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t g1 faaNa Fod @1 aidoe & 98 3fthd gRI fdNg 5-2R @) diace] @) 9 § i Ufaen e T ad 572

1.25% @
2 25% i@
315% B9
4 35% B9

Options : gcollegedunias

878270180997. 1 N



878270180998. 2
878270180999. 3

878270181000. 4

Sub-Section Number : 6
Sub-Section Id : 8782701841
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 87827046048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which statement Is enough to give the answer of question.

The average age of teacher and students in a class is 3 years more than the average age of students. what is the age of
the class teacher?

Statement-

|. There are 11 students in the class.
I|. The average age of teacher and students is 14 years

1.Ifthe data in statement | alone are sufficient to answer the question, while the data in statement [l alone are not sufficient
to answer the question.

2. I the data in statement || alone are sufficient to answer the question, while the data in statement | alone are not sufficient
to answer the question

3. I the data in both the statements | and Il together are necessary to answer the question
4 It the data in both the statements | and Il together are not sufficient to answer the question

Options :

878270181001. 1
878270181002. 2
878270181003. 3

878270181004. 4

gcollegedunias

~



Question Number : 66 Question Id : 87827046048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Y-

| B 11 faemdfg

1. Rie R el @t o o 14 W 3|

1. 7% Sfeh Y | & FGT 0 i 4 31 IR & b 10 U &, e e 2 || 5 T 0 i 14 &1 R el 6 F
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2 U ekt 11 R U e 7 1 R 2 5 R QUi & 7 ot e | RO a5 W T O 34 3 o
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3, U O S e 3R 11 R S T IR & & R e &)

4.0 T T S e | R 1 FRUTU g o 1 R e o ot i 7

Options:

878270181001. 1
878270181002. 2
878270181003. 3

878270181004. 4

Question Number : 67 Question Id : 87827046049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which statement is enough to give the answer of question.

Aand B togetner can complete a work in 6 days. B alone can do it in 20 days. What part of the work was carried out by A?

Statement-
| A completed the job alone after A and B worked together for 5 days.

I|. Part of the work done by A could have been done by B and C togetner in 6 days

1.Ifthe data in statement | alone are sufficient to answer the question, while the data in statement [l alone are not sufficient
to answer the question

2. If the data in statement || alone are sufficient to answer the question, while the data in statement | alone are not sufficient
to answer the question

3. If the data either In statement | alone or in statement |l alone are sufficient to answer the question.

4 If the data in both the statements | and Il together are necessary to answer the question

Options :

878270181005. 1
878270181006. 2
878270181007. 3

878270181008. 4

Question Number : 67 Question Id : 87827046049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias
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Options :

878270181005. 1
878270181006. 2
878270181007. 3

878270181008. 4

Question Number : 68 Question Id : 87827046050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Choose from the four diagrams given below, the one that illustrates the relationship among:

Languages, French, German

[N\
gy [

Options :

878270181009. 1
878270181010. 2
878270181011. 3

878270181012. 4

Question Number : 68 Question Id : 87827046050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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Options :

878270181009. 1
878270181010. 2
878270181011. 3

878270181012. 4

Question Number : 69 Question Id : 87827046051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Asurvey was conducted on a sample of 1000 persons with reference to their knowledge of English, french and German .
The results of the survey are presented in the given Venn diagram.The ratio of the number of the persons who do not know
any of the three languages to those who know all the three languages is:

GERMAN TFRENCH

b

[ 170 05\ 180

\ R
\-T:__ML*/
\\mi/

ENGLISH

Options :

878270181013. 1
878270181014. 2
878270181015. 3
878270181016. 4

Question Number : 69 Question Id : 87827046051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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Options :

878270181013. 1
878270181014. 2
878270181015. 3
878270181016. 4

Question Number : 70 Question Id : 87827046052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which statement is enough to give the answer of question.
Among M. N, T R and D each having different age, who is the yongest ?

Statements—
|. N is younger than only D among them.

Il Tis older than R and younger than M

1.Ifthe data in both the statements | and Il together are necessary to answer the question.
2. If the data in statement | alone is sufficient to answer the question, while the data in statement || alone is not sufficient to
answer the question

3. If the data in statement |l alone is sufficient to answer the question, while the data in statement | alone is not sufficient to
answer the question.
4 If the data either In statement | alone or in statement [l alone is sufficient to answer the question

Options :

878270181017. 1
878270181018. 2
878270181019. 3

878270181020. 4

Question Number : 70 Question Id : 87827046052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias
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Options :

878270181017. 1
878270181018. 2
878270181019. 3

878270181020. 4

Sub-Section Number : 7
Sub-Section Id : 8782701842
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 87827046053 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (71 to 75)

Question Label : Comprehension

gcollegedunias

~



Answer the questions based on the line graph below.

Ratio of Exports o Imports (in terms of money in crores) of two companies over the years.
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Sub questions

Question Number : 71 Question Id : 87827046054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In how many of the given years were the exports more than the imports for company A?

e a3 D

1.
2.
3
4

©en

Options :

878270181021. 1
878270181022. 2
878270181023. 3

878270181024. 4

Question Number : 72 Question Id : 87827046055 Question Type : M(
collegedunia:

Is Question Mandatory : No Calculator : None Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the exports of company A in 1998 were Rs 237 crores, what was the amount of imports in that years?

1. Rs 310 crores
2. Rs 312 crores
3. Rs 316 crores
4. Rs 320 crores

Options :

878270181025. 1
878270181026. 2
878270181027.3

878270181028. 4

Question Number : 73 Question Id : 87827046056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It the imports of company Ain 1997 were increased by 40 percent , what would be the new ratio of exports fo the increased
imports ?

1.54
2.23
3.295
4.33

Options :
878270181029. 1
878270181030. 2

878270181031. 3

878270181032. 4 :
gcollegedumas
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Question Number : 74 Question Id : 87827046057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many of the given years were the exports more than the imports for company B?

1.4
2.2
3.3
4.4

Options:

878270181033. 1
878270181034. 2
878270181035. 3

878270181036. 4

Question Number : 75 Question Id : 87827046058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the imports of company B in 1997 were increased by 50%, what would be the ratio of exports to the increased imports?

1.113
2.1/4
3.25
4.203

Options :
878270181037. 1
878270181038. 2

878270181039. 3
878270181040. 4 gcollegedunias

~



Question Id : 87827046053 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (71 to 75)

Question Label : Comprehension
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Sub questions

Question Number : 71 Question Id : 87827046054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270181021. 1 gcollegedunias

878270181022. 2 -



878270181023. 3

878270181024. 4

Question Number : 72 Question Id : 87827046055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG 1998 H &u=T A 31 Hald 237 $30s TUT U1 T 99 a8 H {aTd & i 71 42

1. 310 PSS
2 32TS %
3316 TS T
4 3202 T

Options :

878270181025. 1
878270181026. 2
878270181027. 3
878270181028. 4

Question Number : 73 Question Id : 87827046056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1997 5 &U-T A d T H 40 Wiawd @1 91 g5, A Fid 3R ¢ U T BT U1 &1 BI?

1.94
2.2
3. 235
4 35

Options :

878270181029. 1 gcollegeduniag
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878270181030. 2
878270181031. 3

878270181032. 4

Question Number : 74 Question Id : 87827046057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feu U gul & 9 fa- aul § $u+1 B & forg fHaia, omara 9 i@ un?

1.1
2.2
33
4 4

Options :

878270181033. 1
878270181034. 2
878270181035. 3

878270181036. 4

Question Number : 75 Question Id : 87827046058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

G 1997 H Ul B P 3 H 50 WA BT 9fG g, ol 3R 9 U A &1 g0 o1 g

1.1/3
2.1/4
3. 215
4.213

Options : gcollegedunias
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878270181037. 1
878270181038. 2
878270181039. 3

878270181040. 4

gcollegedunias
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